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ECE 2201 – Final Exam
May 1, 2024

Keep this exam closed and face up until you are told to begin.

1. This exam is closed book, closed notes. You may use any calculator.  You may not use a cell phone, tablet computer, nor laptop computer.  You may have a crib sheet in the form of one 8 ½” x 11” piece of paper, with material written on both sides. 
2. Print your name, and provide your signature above.  
3. Show all work on these pages. Show all work necessary to complete the problem. A solution without the appropriate work shown will receive no credit.  A solution which is not given in a reasonable order will lose credit.  You may separate the pages as you work.  
4. Show all units in solutions, intermediate results, and figures. Units in the exam will be included between square brackets.
5. If the grader has difficulty following your work because it is messy or disorganized, you will lose credit.
6. Do not use red ink. Do not use red pencil.
7. You will have 100 minutes to work on this exam.


1.  ________________/10
2.  ________________/30
3.  ________________/30
4.  ________________/30
								Total = 100

Room for extra work
[bookmark: OLE_LINK1]
1. (10 points) Use the circuit given below to solve.  The charge carriers are electrons.  Find the energy absorbed by the 3.3[W] resistor during the time after t = 0.    
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2. (30 points) Use either the node-voltage method or the mesh-current method to write a complete set of equations that could be used to solve this circuit.  Do not use both methods.  Do not simplify the circuit.  Do not attempt to solve or simplify your equations.  Define all variables appropriately.
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3.  (30 points)  Use the circuit given below to solve.
a)  Find the Norton equivalent with respect to the 3.2[A] current source.  Draw the Norton equivalent, showing numerical values for all components, with the 3.2[A] current source attached.  
b)  Find the power delivered to the 3.2[A] current source.  
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4.  (30 points)  Use the circuit given below to solve.  Find the Thevenin equivalent resistance as seen by terminals A and B.  
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1. (10 points) Use the circuit given below to solve. The charge carriers are electrons.
Find the energy absorbed by the 3.3[Q] resistor during the time after ¢ = 0.
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2. (30 points) Use either the node-voltage method or the mesh-current method to
write a complete set of equations that could be used to solve this circuit. Do not use
both methods. Do not simplify the circuit. Do not attempt to solve or simplify your
equations. Define all variables appropriately.
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3. (30 points) Use the circuit given below to solve.

a) Find the Norton equivalent with respect to the 3.2[A] current source. Draw the
Norton equivalent, showing numerical values for all components, with the 3.2[A]
current source attached.

b) Find the power delivered to the 3.2[A] current source.
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4. (30 points) Use the circuit given below to solve. Find the Thevenin equivalent
resistance as seen by terminals A and B.

2.5[kQiy

12.9[mA]

‘L 68k - 7.5(kQ)]
We wi)] use the test -souvrce method. We set
all .‘hde}oendent Souvces €7ual to 2evo, andk
then af)ol/ a test source.

2.2 Lk} 50 cx A

Tir
1.2 fkn] gb 1£v]

B

See next

pe3e





image13.jpeg
Room for extra work

We Can SimF):'Fy.

(&.a[kﬁ]]{ 3_3{m}> + Y.70kn3 = 6.03 [k

We redlvaw asain +or c/ar,"é)/. ,
gf[ka] l‘x o i

JG = l[\/}
D—C = JQ ~+ gg[kﬁ—.} L\X

- U‘ ~
Vo-Ue + _U_D,.‘_ff_-— ~Y9fmsiug + —2—=0
5.9[kn) 6.02 (k3 5.6kn]

Solu;"'ﬁ)
Lx = (ﬁ_:ﬁ’_.- we get
5403 Req=-39775(23]

~Z:T + ,[UJ +[)( + U—C "U-D _ O L‘—r-‘: "2.8756[!!4_}

1.&{kA3 6.08fk"3 Vp=6.6697 {v]
Ve =-3.8979 {u3
Rea = A Ly=-19552fmA)

L




